Journal of Linear and Topological Algebra Vol. 07, No. 02, 2018, 109-119



Stability and hyperstability of orthogonally ring *-n-derivations and orthogonally ring *-n-homomorphisms on C^* -algebras

R. Gholami^a, Gh. Askari^{b,*}, M. Eshaghi Gordji^b

^aDepartment of Mathematics, Islamic Azad University Dehloran Branch, Dehloran, Iran. ^bDepartment of Mathematics, Semnan University, P.O.Box 35195-363, Semnan, Iran.

Received 12 February 2018; Revised 15 March 2018; Accepted 22 April 2018.

Communicated by Themistocles M. Rassias

Abstract. In this paper, we investigate the generalized Hyers-Ulam-Rassias and the Isac and Rassias-type stability of the conditional of orthogonally ring *-*n*-derivation and orthogonally ring *-*n*-homomorphism on C^* -algebras. As a consequence of this, we prove the hyperstability of orthogonally ring *-*n*-homomorphism on C^* -algebras.

© 2018 IAUCTB. All rights reserved.

Keywords: Stability and hyperstability, ring *-n-derivation, ring *-n-homomorphism, $C^{\ast}\text{-algebras}$

2010 AMS Subject Classification: 42C99, 46B99, 46C99.

1. Introduction

The stability problem of functional equations had been first raised by Ulam [27]. In 1941, Hyers [12] gave a first affirmative answer to the question of Ulam for Banach spaces. Hyers Theorem was generalized by Rassias [23] for linear mapping by considering an unbounded Cauchy difference. For more details about the result concerning such problems, the reader to ([8–10, 13–16, 19–22, 25]). We assume X and Y are two algebras over the real or complex filed F. An additive mapping $d: X \to X$ is said to be a ring

© 2018 IAUCTB. All rights reserved. http://jlta.iauctb.ac.ir

^{*}Corresponding author.

E-mail address: rahmat.gholami@yahoo.com (R. Gholami); g.askari@semnan.ac.ir (Gh. Askari); meshaghi@semnan.ac.ir (M. Eshaghi Gordji)

n-derivation if the functional equation

$$d(x_1x_2...x_n) = d(x_1)x_2...x_n + x_1d(x_2)x_3...x_n + ... + x_1...x_{n-1}d(x_n)$$
(1)

for all $x_1, x_2, ..., x_n \in X$. An additive mapping $h: X \to Y$ is said to be a ring homomorphism if the functional equation h(xy) = h(x)h(y) for all $x, y \in X$. In addition, h is called a ring *n*-homomorphism if the functional equation $h(x_1x_2...x_n) = h(x_1)h(x_2)...h(x_n)$ is valid for all $x_1, x_2, ..., x_n \in X$.

Suppose that X is a real vector space (or an algebra) with dim $X \ge 2$ and \perp is a binary relation on X with the following properties:

(O₁) totality of \perp for zero: $x \perp 0, 0 \perp x$ for all $x \in X$;

(O₂) independence: if $x, y \in X - \{0\}, x \perp y$, then x, y are linearly independent;

(O₃) homogeneity: if $x, y \in X$, $x \perp y$, then $\alpha x \perp \beta y$ for all $\alpha, \beta \in \mathbb{R}$;

(O₄) the Thalesian property: if P is a 2-dimensional subspace (subalgebra) of X, $x \in P$ and $\lambda \in R_+$, then there exists $u_x \in P$ such that $x \perp u_x$ and $x + u_x \perp \lambda x - u_x$.

The pair (X, \perp) is called an orthogonality space (algebra). By an orthogonality normed space (normed algebra) we mean an orthogonality space (algebra) having a normed structure. The orthogonal Cauchy functional equation

$$f(x+y) = f(x) + f(y), \ x \perp y,$$
 (2)

in which \perp is an abstract orthogonality relation, was first investigated by Gudder and Strawther [11]. Let (A, \perp) be an orthogonality normed algebra and B be an A-module. A mapping $d: A \longrightarrow B$ is an orthogonally ring derivation if d is an orthogonally additive mapping satisfying

$$d(xy) = xd(y) + d(x)y \tag{3}$$

for all $x, y \in A$ with $x \perp y$.

Let $f : \mathbb{R} \to \mathbb{R}$ and $U \in \mathbb{R}^2$. Then we call f an orthogonally U-additive function provided that f satisfies equation (2) for all $(x, y) \in U$. In this paper, we are interested in a set U such that every orthogonally U-additive function f is an orthogonally additive function. Recently, Skof [26] consider the Hyers-Ulam stability problem [27] of a conditional Cauchy functional inequality. In particular, the result can be stated as follows: If $f : \mathbb{R} \to \mathbb{R}$ satisfies the conditional Cauchy functional inequality

$$\|f(x+y) - f(x) - f(y)\| \leqslant \epsilon \tag{4}$$

for all $x, y \in \mathbb{R}$ with $|x| + |y| \leq d$, then f satisfies inequality (4) for all $x, y \in \mathbb{R}$. In this paper, for a given δ we fined a set $U_{\delta} \in X^2$ satisfying $m(U_{\delta}) \leq \delta$ such that if f satisfies (4) for all $(x, y) \in U_{\delta}$, then f satisfies (4) for all $(x, y) \in X$ with $\varphi(x, y)$, replaced by $3\varphi(x, y)$ and that there exists a unique additive function $A: X \to X$ satisfying

$$\|f(x) - A(x)\| \leqslant 3\varphi(x, y) \tag{5}$$

for all $x \in X$.

Let X be a normed orthogonal algebra space with countable dense subset E and Y Banach X-module space. For j = 1, 2, 3, ..., we denote by $B_j = \{(x, y) \in X^2 : ||x - x_j|| < 1, ||y - y_j|| < 2^{-j}\}$ the rectangle with center (x_j, y_j) . let $U = \bigcup_{j=0}^{\infty} B_j$ and $E \times E :=$

 $\{(x_1, y_1), (x_2, y_2), (x_3, y_3), \ldots\}$. It is easy to see that the Lebegues measure m(U) of U satisfies $m(U) \leq 1$. Now for d > 0. Let

$$U_d := U \bigcap \{ (x, y) \in X^2 : ||x|| + ||y|| > d, x \perp y \}.$$

Then for a given $\delta > 0$, we can choose d > 0 such that $m(U) \leq \delta$. We first consider that stability of functional inequality (4) in the restricted domain U_d (see [1]-[7],[17]-[18],[24]).

The outline of the paper is as follows: In Sec. 2 we prove stability of orthogonally ring *-*n*-derivation and orthogonally ring *-*n*-homomorphism in C^* -algebra for the functional equation additive. In Sec. 3 we establish the hyperstability of these functional equation additive by suitable control functions.

2. Stability

Throughout this section, assume that A is a C^* -algebra with norm $\|.\|_A$ and that B is a C^* -algebra with norm $\|.\|_B$. For a given mapping $f: A \to A$, we define

$$\Delta f(z_1, z_2, \dots, z_n) := f(z_1 z_2 \dots z_n) - f(z_1) z_2 z_3 \dots z_n - z_1 f(z_2) z_3 \dots z_n - \dots z_1 z_2 \dots z_{n-1} f(z_n)$$
(6)

for all $z_i \in A$, $1 \leq i \leq n$ that are mutually orthogonal.

We prove the generalized Hyers-Ulam stability of orthogonally ring *-n-derivation in C^* -algebra for the functional equation additive.

Theorem 2.1 Suppose that $f : A \to A$ be a mapping with f(0) = 0 for which there exists a function $\varphi : A^{n+2} \to [0, \infty)$ such that

$$\|f(x+y) - f(x) - f(y) + \Delta f(z_1, z_2, ..., z_n)\|_A \leqslant \varphi(x, y, z_1, z_2, ..., z_n)$$
(7)

and

$$||f(x^*) - f(x)^*||_A \leqslant \varphi(x, x, 0, ..., 0)$$
(8)

for all $(x, y) \in U_d$ and $z_i \in A$, $1 \leq i \leq n$ that are mutually orthogonal. Suppose the function φ satisfying

$$\varphi(x - p - t, p + t) + \varphi(x - p - t, y + p + t) + \varphi(-p - t, y + p + t) \le 3\varphi(x, y, 0, ..., 0)$$
(9)

for all $(x - p - t, p + t), (x - p - t, y + p + t), (-p - t, y + p + t) \in U_d$ and

$$\psi(x) = 3\sum_{k=0}^{\infty} 2^{-k-1}\varphi(2^n x, 2^n x, 0, ..., 0) < \infty$$
(10)

and

$$\lim_{n \to \infty} 2^{-n} \varphi(2^n x, 2^n y, 2^n z_1, 2^n z_2, ..., 2^n z_n) = 0$$
(11)

for all $(x, y) \in U_d$ and $z_i \in A$, $1 \leq i \leq n$ that are mutually orthogonal, then there exists a unique orthogonally ring *-n-derivation $D: A \to A$ such that

$$\|f(x) - D(x)\|_A \leqslant \psi(x). \tag{12}$$

for all $x \in A$.

Proof. For given $x, y \in A$ we choose $p \in A$ such that

$$||p||_A \leq d + ||x||_A + ||y||_A + 1.$$
(13)

We first choose $(x_{i_1}, y_{i_1}) \in E^2$ such that

$$\| -p - x_{i_1} \|_A + \| p - y_{i_1} \|_A \leqslant \frac{1}{4},$$
(14)

and then we choose $(x_{i_2}, y_{i_2}) \in E^2$, $(x_{i_3}, y_{i_3}) \in E^2$ and $(x_{i_4}, y_{i_4}) \in E^2$ with $1 < i_1 < i_2 < i_3 < i_4$, step by step, satisfying

$$\|x - y_{i_1} - x_{i_2}\|_A + \|y_{i_1} - y_{i_2}\|_A < 2^{-i_1 - 1},$$
(15)

$$||x - y_{i_2} - x_{i_3}||_A + ||y + y_{i_2} - y_{i_3}||_A < 2^{-i_2 - 1},$$
(16)

$$\|y - y_{i_3} - x_{i_4}\|_A + \|y_{i_3} - y_{i_4}\|_A < 2^{-i_3 - 1},$$
(17)

Let

$$t_1 = y_{i_1} - p,$$
 $t_2 = y_{i_2} - y_{i_1},$
 $t_3 = y_{i_3} - y_{i_2} - y,$ $t_4 = y_{i_4} - y_{i_3}$

and $t = t_1 + t_2 + t_3 + t_4$. Then from (14)-(17) we have

$$||t_1||_A < \frac{1}{4}, \ ||t_2||_A < 2^{-i_1-1}, \ ||t_3||_A < 2^{-i_2-1}, \ ||t_4||_A < 2^{-i_3-1}, \ ||t||_A < \frac{1}{2}.$$
 (18)

Thus, from (13), (14) and (18) we get

$$\|-p-t\|_{A} + \|p+t\|_{A} \ge 2(\|p\|_{A} - \|t\|_{A}) \ge 2(\|p\|_{A} - \frac{1}{2}) > 2d \ge d$$
(19)

and

$$\| -p - t - x_{i_1} \|_A \leq \| p - x_{i_1} \|_A + \| t \|_A < \frac{1}{4} + \frac{1}{2} < 1$$
(20)

and

$$\|p+t-y_{i_1}\|_A = \|t_2+t_3+t_4\|_A < 2^{-i_1-1} + 2^{-i_2-1} + 2^{-i_3-1} < 2^{-i_1}.$$
 (21)

Inequalities (19)-(21) imply that

$$(-p-t, p+t) \in U_d. \tag{22}$$

Also from the inequalities

$$\begin{aligned} \|x - p - t\|_A + \|p + t\|_A &\ge 2(\|p\|_A - \|x\|_A - \|t\|_A) \\ &> 2(\|p\| - \|x\| - \frac{1}{2}) > d, \end{aligned}$$

and

$$\begin{aligned} \|x - p - t - x_{i_2}\|_A &\leq \|x - y_{i_1} - x_{i_2}\|_A + \|t_2\|_A + \|t_3\|_A + \|t_4\|_A \\ &< \frac{1}{8} + \frac{1}{8} + \frac{1}{16} + \frac{1}{32} < \frac{1}{2} \end{aligned}$$

and

$$||p+t-y_{i_2}||_A = ||t_3+t_4||_A < 2^{-i_2-1} + 2^{-i_3-1} < 2^{-i_2},$$

we have

$$(x - p - t, p + t) \in U_d.$$

$$\tag{23}$$

Similarly, using the followings

$$\begin{split} \|x - p - t - x_{i_3}\|_A &\leq \|x - y_{i_2} - x_{i_3}\|_A + \|t_3\|_A + \|t_4\|_A < 1, \\ \|y + p + t - y_{i_3}\|_A &= \|t_4\|_A < 2^{-i_3}, \\ \| - p - t - x_{i_4}\|_A &\leq \|y - y_{i_3} - x_{i_4}\|_A + \|t_4\|_A < 1, \\ \|y + p + t - y_{i_4}\|_A &= 0, \end{split}$$

we have

$$(x - p - t, y + p + t), (-p - t, y + p + t) \in U_d.$$
(24)

Now, form (23), (24), (9) and putting $z_i = 0$ for all $1 \leq i \leq n$ in (7) we have

$$\|f(x+y) - f(x) - f(y)\| \leq \|-f(x) + f(x-p-t) + f(p+t)\|_{A} + \|f(x+y) - f(x-p-t) - f(y+p+t)\|_{A} + \|-f(y) + f(-p-t) + f(y+p+t)\|_{A} \leq 3\varphi(x, y, 0, ..., 0)$$
(25)

for all $x, y \in A$. Setting x = y in (25) we get

$$\|\frac{1}{2}f(2x) - f(x)\|_A \leqslant \frac{3}{2}\varphi(x, x, ..., 0)$$
(26)

for all $x \in A$. By induction, we can show that

$$\|2^{-n}f(2^nx) - f(x)\|_A \leqslant 3\sum_{k=0}^{n-1} 2^{-k-1}(2^kx, 2^kx, 0, ..., 0)$$
(27)

for all x in A. Replacing x by $2^m x$ in (27), we get

$$\|f\frac{(2^{n+m}x)}{2^{m+n}} - \frac{f(2^mx)}{2^m}\|_A \leqslant 3\sum_{k=0}^{n+m-1} 2^{-k-1}\varphi(2^kx, 2^kx, 0, ..., 0)$$
(28)

for all $n, m \in \mathbb{N}$ and $x \in A$. Hence, $\{2^{-n}f(2^nx)\}$ is a cauchy sequence in complete space A. Now, let D defined by

$$D(x) := \lim_{n \to \infty} 2^{-n} f(2^n x).$$
(29)

Taking the limit in (27) as $n \to \infty$, we obtain the inequality

$$||D(x) - f(x)||_A \leq \psi(x)$$

for all $x \in A$. It follow from (7), (11) and (29) that

$$\begin{split} \|D(x+y) - D(x) - D(y)\|_A &= \lim_{n \to \infty} 2^{-n} \|f(2^n(x+y)) - f(2^n x) - f(2^n y)\|_A \\ &\leqslant \lim_{n \to \infty} 2^{-n} \varphi(2^n x, 2^n y, 0, ..., 0) = 0. \end{split}$$

Also,

$$\begin{split} \|\Delta D(z_1, z_2, ..., z_n)\|_A &= \lim_{n \to \infty} 2^{-n^2} \|\Delta f(z_1, z_2, ..., z_n)\|_A \\ &\leqslant \lim_{n \to \infty} 2^{-n^2} \varphi(0, 0, 2^n z_1, ..., 2^n z_n) \\ &\leqslant \lim_{n \to \infty} 2^{-n} \varphi(0, 0, 2^n z_1, ..., 2^n z_n) = 0. \end{split}$$

It follows from (8), (11) and (29) that

$$||D(x^*) - D(x)^*||_A = \lim_{n \to \infty} 2^{-n} ||f(2^n x^*) - f(2^n x)^*||_A$$
$$\leq \lim_{n \to \infty} 2^{-n} \varphi(2^n x, 2^n x, 0, ..., 0) = 0.$$

Now, let $D: A \to A$ by another orthogonally ring *-*n*-derivation satisfying $||D(x) - f(x)|| \leq \psi(x)$ for all x in A. Then, we get

$$\begin{split} \|D(x) - D'(x)\|_{A} &= \lim_{n \to \infty} 2^{-n} \|D(2^{n}x) - D'(2^{n}x)\|_{A} \\ &\leqslant \lim_{n \to \infty} 2^{-n} (3\sum_{k=0}^{\infty} 2^{-k} \varphi(2^{k+m}x, 2^{k+m}x, 0, ..., 0)) \\ &\leqslant \lim_{n \to \infty} 2^{-k} \varphi(2^{k}x, 2^{k}x, 0, ..., 0) = 0. \end{split}$$

Therefor D'(x) = D(x) for all $x \in A$.

Corollary 2.2 Let $\phi : [0, \infty) \to [0, \infty)$ be a function satisfying the following condition: i) $\lim_{r\to\infty} \frac{\phi(r)}{r} = 0$,

114

ii) $\phi(rs) < \phi(r)\phi(s)$ for all $r, s \in [0, \infty)$, iii) $\phi(r) < r$ for all r > 1.

If function $f: A \to A$ with f(0) = 0 and satisfying the inequalities

$$\|f(x+y) - f(x) - f(y) + \Delta f(z_1, z_2, ..., z_n)\|_A \leq \theta(\phi(\|x\|_A) + \phi(\|y\|_A) + \phi(\|z_1\|_A) + \dots + \phi(\|z_n\|_A)),$$
(30)

and

$$\|f(x^*) - f(x)^*\|_A \leq 2\theta(\phi(\|x\|_A))$$
(31)

for all $\theta \ge 0$, for all $(x, y) \in U_d$ and $z_i \in A$ for $1 \le i \le n$ that are mutually orthogonal. Then there exists a unique orthogonally ring *-*n*-derivation function $D : A \to A$ such that

$$\|f(x) - D(x)\|_A \leq 3\frac{2\theta}{2 - \phi(2)}\psi(\|x\|_A)$$
(32)

for all x in A.

Proof. It follows (7) by setting

$$\varphi(x, y, z_1, z_2, \dots, z_n) = \theta(\phi(\|x\|_A) + \phi(\|y\|_A) + \phi(\|z_1\|_A) \dots + \phi(\|z_n)\|_A))$$

for all $(x, y) \in U_d$, and $z_i \in A$, that are mutually orthogonal.

For a given mapping $f: A \to B$, we define

$$\Delta f(z_1, z_2, \dots, z_n) := f(z_1 z_2 \dots z_n) - f(z_1) f(z_2) \dots f(z_n)$$

for all $z_i \in A$, $1 \leq i \leq n$ that are mutually orthogonal. We prove the generalized Hyers-Ulam stability of orthogonally ring *-*n*-homomorphism in C*-algebra for the functional equations additive.

Theorem 2.3 Suppose that $f : A \to B$ be a mapping with f(0) = 0 for which there exists a function $\varphi : A^{n+2} \to [0, \infty)$ such that

$$\|f(x+y) - f(x) - f(y) + \Delta f(z_1, z_2, ..., z_n)\|_B \leqslant \varphi(x, y, z_1, z_2, ..., z_n)$$
(33)

and

$$||f(x^*) - f(x)^*||_B \leqslant \varphi(x, x, 0, ..., 0)$$
(34)

for all $(x, y) \in U_d$ and $z_i \in A$, $1 \leq i \leq n$ that are mutually orthogonal. Suppose a function φ satisfying

$$\varphi(x-p-t,p+t) + \varphi(x-p-t,y+p+t) + \varphi(-p-t,y+p+t) \leqslant 3\varphi(x,y,0,...,0)$$
(35)

for all $(x - p - t, p + t), (x - p - t, y + p + t), (-p - t, y + p + t) \in U_d$. If a function φ

satisfying

$$\psi(x) = 3\sum_{k=0}^{\infty} 2^{-k-1}\varphi(2^n x, 2^n x, 0, ..., 0) < \infty,$$
(36)

and

$$\lim_{n \to \infty} 2^{-n} \varphi(2^n x, 2^n y, 2^n z_1, 2^n z_2, \dots, 2^n z_n) = 0$$
(37)

for all $(x, y) \in U_d$ and $z_i \in A$, $1 \leq i \leq n$ that are mutually orthogonal, then there exists a unique orthogonally ring *-*n*-homomorphism $H : A \to B$ such that

$$\|f(x) - H(x)\|_B \leqslant \psi(x). \tag{38}$$

for all $x \in A$.

Proof. By the reasoning as that in the proof Theorem 2.1 there exists a unique orthogonally ring *-*n*-homomorphism mapping $H: A \to B$ satisfying (38). The mapping $H: A \to B$ is given by $H(x) := \lim_{n\to\infty} 2^{-n} f(2^n x)$ for all $x \in A$. It follows from (33),

$$\begin{split} \|\Delta H(z_1, z_2, ..., z_n)\|_B &= \lim_{n \to \infty} 2^{-n^2} \|\Delta f(z_1, z_2, ..., z_n)\|_B \\ &\leqslant \lim_{n \to \infty} 2^{-n^2} \varphi(0, 0, 2^n z_1, ..., 2^n z_n) \\ &\leqslant \lim_{n \to \infty} 2^{-n} \varphi(0, 0, 2^n z_1, ..., 2^n z_n) = 0 \end{split}$$

for all $z_i \in A$, $1 \leq i \leq n$.

Corollary 2.4 Let A and B be two C^* -algebras with norm and let $\phi : [0, \infty) \to [0, \infty)$ be a function satisfying the following condition:

$$\begin{split} &\text{i) } \lim_{r\to\infty} \frac{\phi(r)}{r} = 0, \\ &\text{ii) } \phi(rs) < \phi(r)\phi(s) \text{ for all } r,s\in[0,\infty), \\ &\text{iii) } \phi(r) < r \text{ for all } r>1. \end{split}$$

If function $f: A \to B$ with f(0) = 0 and satisfying the inequalities

$$\|f(x+y) - f(x) - f(y) + \Delta f(z_1, z_2, ..., z_n)\|_B \leq \theta(\phi(\|x\|_A) + \phi(\|y\|_A) + \phi(\|z_1\|_A) + \dots + \phi(\|z_n\|_A),$$
(39)

and

$$\|f(x^*) - f(x)^*\|_B \le 2\theta(\psi(\|x\|_A))$$
(40)

for all $\theta \ge 0$ and for all $(x, y) \in U_d$ and $z_i \in A$, $1 \le i \le n$ that are mutually orthogonal, then there exists a unique orthogonally ring *-*n*-homomorphism function $H : A \to B$ such that

$$\|f(x) - H(x)\|_B \leqslant 3\frac{2\theta}{2 - \phi(2)}\psi(\|x\|_A)$$
(41)

for all x in A.

116

Proof. It follows (33) by putting

$$\varphi(x, y, z_1, z_2, \dots, z_n) = \theta(\phi(\|x\|_A) + \phi(\|y\|_A) + \phi(\|z_1\|_A) + \dots + \phi(\|z_n)\|_A)$$

for all $(x, y) \in U_d$ and $z_i \in A$, that are mutually orthogonal.

3. Hyperstability

In this section, assume that A is a C^* -algebra with norm $\|.\|_A$ and that B is a C^* -algebra with norm $\|.\|_B$. Now we are going to establish the hyperstability of the orthogonally ring *-*n*-derivation and orthogonally ring *-*n*-homomorphism in normed C^* -algebras for the functional equation additive.

Theorem 3.1 Let A and B be two normed C^* -algebras and $\varphi: A^{n+2} \to [0,\infty)$ be a function such that

$$\varphi(x, y, 0, ..., 0) = 0 \tag{42}$$

$$\lim_{n \to \infty} 2^{-n} \varphi(2^n x, 2^n y, 2^n z_1, 2^n z_2, ..., 2^n z_n) = 0$$
(43)

for all $(x, y) \in U_d$ and $z_i \in A, 1 \leq i \leq n$ that are mutually orthogonal. Suppose $f : A \to A$ is a mapping that

$$\|f(x+y) - f(x) - f(y) + \Delta f(z_1, z_2, ..., z_n)\|_B \leq \varphi(x, y, z_1, z_2, ..., z_n)$$
(44)

for all $(x, y) \in U_d$ and $z_i \in A$, $1 \leq i \leq n$ that are mutually orthogonal. Then f is a orthogonally ring *-*n*-derivation or orthogonally ring *-*n*-homomorphism.

Proof. Because $\varphi(x, y, 0, ..., 0) = 0$ for all $(x, y) \in U_d$. Like the proof Theorem 2.3, we have f(2x) = 2f(x) and induction we infer that $f(2^n) = 2^n f(x)$. There for D(x) = f(x) for all $x \in A$. Thus f is a orthogonally ring *-*n*-derivation or orthogonally ring *-*n*-homomorphism between C^* -algebra with norm. The other case is similar.

Corollary 3.2 Let θ , p by real number such that $\theta > 0$, $P < \frac{1}{3}$ and X and Y be two normed C^* -algebra. Let $f: A \to A$ be a mapping with f(0) = 0 such that

$$\|f(x+y) - f(x) - f(y) + \Delta f(z_1, z_2, ..., z_n)\|_B \leq \theta(\|z_i\|_A^p + \|x\|_A^p \|y\|_A^p \|z_i\|_A^p + \|x\|_A^p \|z_i\|_A^p + \|x\|_A^p \|z_i\|_A^p + \|y\|_A^p \|z_i\|_A^p)$$
(45)

for all $(x, y) \in U_d$ and $z_i \in A$, $1 \leq i \leq n$ that are mutually orthogonal. Then f is an orthogonally ring *-*n*-derivation.

Proof. It follows by Theorem 3.1 by putting

$$\varphi(x, y, z_1, z_2, \dots, z_n) = \theta(\|z_i\|_A^p + \|x\|_A^p \|y\|_A^p \|z_i\|_A^p + \|x\|_A^p \|z_i\|_A^p + \|y\|_A^p \|z_i\|_A^p)$$

Corollary 3.3 Let θ , p by real number such that $\theta > 0$, $P < \frac{1}{3}$ and X and Y be two normed C^* -algebra. Let $f: A \to B$ be a mapping with f(0) = 0 such that

$$\begin{aligned} \|\Delta f(x+y) - f(x) - f(y) + \Delta f(z_1, z_2, ..., z_n)\|_B &\leq \theta(\|z_i\|_A^p + \|x\|_A^p \|y\|_A^p \|z_i\|_A^p \\ &+ \|x\|_A^p \|z_i\|_A^p + \|y\|_A^p \|z_i\|_A^p \end{aligned} \tag{46}$$

for all $(x, y) \in U_d$ and $z_i \in A$, $1 \leq i \leq n$ that are mutually orthogonal. Then f is an orthogonally ring *-n-homomorphism.

Proof. It follows by Theorem 3.1 by putting

$$\varphi(x, y, z_1, z_2, \dots, z_n) = \theta(\|z_i\|_A^p + \|x\|_A^p \|y\|_A^p \|z_i\|_A^p + \|x\|_A^p \|z_i\|_A^p + \|y\|_A^p \|z_i\|_A^p).$$

Acknowledgements

This research is supported by Islamic Azad University, Dehloran Branch in Iran. The authors would like to thank from the anonymous reviewers for carefully reading of the manuscript and giving useful comments, which will help to improve the paper.

References

- M. R. Abdollahpoura, R. Aghayaria, Th. M. Rassias, Hyers-Ulam stability of associated Laguerre differential equations in a subclass of analytic functions, J Math. Anal. Appl. 437 (2016), 605-612.
- [2] J. Baker, The stability of the cosin equation. Proc Am. Math. Soc. 80 (1979), 242-246.
- J. Brzdek, On a method of proving the Hyers-Ulam stability of functional equations on restricted domains, Aust. J. Math. Anal. Appl. 6 (2009), 1-10.
- [4] Y. J. Cho, Th. M. Rassias, R. Saadati, Stability of functional equations in random normed spaces, Springer Science and Business Media, 2013.
- [5] Y. J. Cho C. Park, T. M. Rassias, R. Saadati, Stability of functional equations in Banach algebras, Springer, Cham, 2015.
- [6] J. Chung, Stability of a conditional equation, Aequat. Math. 83 (2012), 313-320
- J. Chung, Stability of functional equations on restricted domains in groupand their asymptotic behaviors, Comput. Math. Appl. 60 (2010), 2653-2665.
- [8] Z. Gajda, On stability of additive mappings. Int. J. Math. Math. Soc. 14 (1991), 431-434.
- P. Gvruta, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl. 184 (1994), 431-436.
- [10] P. Găvruta, L. Găvruta, A new method for the generalized Hyers-Ulam-Rassias stability, Int. Nonlinear Anal. Appl. 1 (2010), 11-18.
- S. Gudder, D. Strawther, Orthogonally additive and orthogonally increasing functions on vector space, Pacific J. Math. 58 (1975), 427-436.
- [12] D. H. Hyers, On the stability of the linear functional equation. Proc. Natl. Acad. Soc. 27 (1941), 222-224.
- G. Isac, Th. M. Rassias, On the Hyers-Ulam stability of ψ- additive mappings, J. Approx. Theory. 72 (1993), 131-137.
- [14] P. Kannappan, Functional equations and inequalities with applications. Springer Science and Business Media, 2009.
- [15] Y. H. Lee, S. M. Jung, M. Th. Rassias, Uniqueness theorems on functional inequalities concerning cubicquadratic-additive equation, J. Math. Inequal. 12 (2018), 43-61.
- [16] Y. H. Lee, S. M. Jung, M. Th. Rassias, On an n-dimensional mixed type additive and quadratic functional equation, Appl. Math. Comput. 228 (2014), 13-16.
- [17] S. M. Jung, Hyers-Ulam stability of Jensens equations and its application, Proc. Amer. Math. soc. 126 (1998), 3137-3143.
- [18] S. M. Jung, Hyers-Ulam-Rassias stability of functional equations in nonlinear analysis, Springer Science and Business Media, 2011.
- [19] J. M. Rassias, On Approximation of approximately linear mappings by linear mappings, J. Funct. Anal. 46 (1982), 126-130.
- [20] J. M. Rassias, On stability of the Euler-Lagrange functional equation, Chin. J. Math. 20 (1992), 185-190.
- [21] J. M. Rassias, Complete solution of the multi-dimensional of Ulam, Discuss. Math. 14 (1994), 101-107.

- [22] J. M. Rassias, Solution of a problem of Ulam, J. Approx. Theory. 57 (1989), 268-273.
- [23] Th. M. Rassias, On the stability of the linear mapping in Banach space. Proc. Amer. Math. Soc. 72 (1978), 297-300.
- [24] J. M. Rassias, M. J. Rassias, On the Ulam stability of Jensen and Jensen type mappings on restricted domains, J. Math. Anal. Appl. 281 (2003), 516-524.
- [25] P. Semrl, The functional equation of multiplicative derivation is hyperstable on standard operator algebras, Integ. Equation. Operator. Theory. 18 (1994), 118-122.
- [26] F. Skof, Sull approximazione delle apphcazioni localmente δ-additive, Torino Cl. Sci. Fis. Math. Nat. 117 (1983), 377-389.
 [27] S. M. Ulam, Problem in modern mathematiics, Chapter VI. Science Editions. New Yoek, 1960.